ECE 300

HW #4

Wlg

Due:  September 27,  ‘07



Name_______________________

Use engineering paper.  Work only on one side of the paper.  Use this sheet as your cover sheet, placed on top of your work and stapled in the top left-hand corner.  Number the problems at the top of the page, in the center of the sheet.  Do neat work.  Underline your answers.  Show how you got your equations.  Be sure to show how you got your answers.  Each problem counts 15 points.

4.45 Norton:  

Actually find isc from a to b to find IN.  Also find VOS.  Use 
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 to find RTH.

Also deactivate the current source of 4 A to find RTH.  

Answers:  RTH = RN = 3(,    IN = 2 A

4.48 Norton:

Actually find Isc = IN by finding the short circuit current from a to b.  Also find VOS.

Use VOS and ISC to find RTH.  Also find RTH by applying a 1 amp source between 

Terminals a-b and find the resulting Vab.  Then use 
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to find RTH.

Answers:  IN = 3 A,    RTH = RN = -4 (
Explain the significance of RN being a negative resistance.  The answer is

given in the text material.

4.57 Norton:

Actually find IN by finding isc flowing from terminal a to terminal b.

Answers:  VTH = 166.67 V,  IN = 16.67 A,    RTH = RN = 10 (
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